
YOSHIMURA JAPAN CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install 

Yoshimura product.

Parts Diagram

3.  Contents:

1.  Product Information :

SUZUKI GSX-S1000/F(17-) EEC SLIP-ON R-11Sq

Serial Number

 No.                      Descriptions                              Part No.         Q'ty   No.                     Descriptions                              Part No.        Q'ty 

1

2
 

3 

4 

5

6 

7

8 

9 

10 

11 

12 

13 

14 

15 

16

1A5-196-5E00 

1F6-196-L13G0 

1F6-196-L12G0 

1F6-196-L16G0 

161-196-0300

161-196-0210 

800-208-5030

803-206-4020

812-108-2600

812-206-1310

553-565-0000 

850-208-1212 

823-006-1000 

823-008-1250 

118-001-0000 

161-196-0000

803-206-4012

810-206-0000

Tailpipe 

Silencer Assy, (SSF) 

Silencer Assy, (SM) 

Silencer Assy, (STB) 

Silencer Bracket #1

Silencer Bracket #2 

Cap Bolt M8x30

Button Bolt M6x20 

Washer M8x26

Washer M6x13

Grommet Rubber 

Grommet Spacer 

Flange Nut M6 

Flange Nut M8 

Exhaust Spring 

Heat Guard 

Button Bolt M6x12 

Conical Spring Washer M6

1 

1 

1 

1 

3 

2

3

2 

1 

1 

2

1 

2 

1 

1 

1

Before beginning installation, let motorcycle cool down.

Metal Magic sleeve is coated with heat-resistant paint. Handle with care not to be hit or scratched by 

surroundings as the coating may come off. When cleaning silencer, use soft cloth with dish soap but do 

not use metal polish or chemical cleaner. 

CAUTION

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 

cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

Part Number

Satin Finish Sleeve    (SSF)

Metal Magic Sleeve   (SM)

Titanium Blue Sleeve (STB)

: 1F0-196-L13G0

: 1F0-196-L12G0

: 1F0-196-L16G0

Description SUZUKI GSX-S1000/F EEC Slip-On R-11Sq Cyclone Type 

Main Material

EEC Approval No.

S196S1QC1 

Stainless steel 

e3 10004G

(SSF) & (SM) 

(STB) 

: 3.2kg 

: 3.0kg

Weight
    [STD : 2.3kg]

GSX-S1000 EEC S.O R-11 E4 -01 1/5

Product information

2

14

15

11

16

3

4

910

7

7

6

5

12

8

1

13

EEC Approval No.

Sight from underneath

e3 10004G

EEC Approval No. Lot Number

2.  Applicable Model :
Model GSX-S1000/F(17-)

ＦＩＧ．１０ ＦＩＧ．１１

３.取付方法

　１．ＳＥＴ内容を確認して下さい。

　２．フレームを損傷しないように注意しながら純正サイレン
　　　サーを取り外して下さい。取り外したボルト・ナットは、
　　　本製品の取付に使用します。（ＦＩＧ．１参照）

　３．純正サイレンサーからクランプバンド、ガスケットを取
　　　り外して下さい。外したクランプバンド、ガスケットは、
　　　本製品の取付に使用します。

！注意 ※作業時は部品を損傷しないよう注意して作業を行なって下さい。
※ボルト、ナット締め付けの際は必ず規定トルクを守って下さい。
　ボルト、ナットの脱落・製品の破損の原因になります。

１３．マフラーと車両が干渉していない事を確認して下さい。
　　　干渉している場合はクランプバンド、サイレンサー、サ
　　　イレンサーステーを留めるボルト・ナットを緩め、干渉
　　　しない位置に再度調整して下さい。

１４．中性洗剤、ウエス等でマフラー全体を良く脱脂して下さ
　　　い。指紋などが付着したままエンジンを始動すると、色
　　　ムラとなって残ってしまうことがあります。

１５．暖気運転を行ない、排気漏れが無いことを確認し、エン
　　　ジンが完全に冷えてから各ボルトの増し締めを行なって
　　　下さい。

110-196-L1 171113fj-3 2/4 110-196-L1 171113fj-3 3/4 110-196-L1 171113fj-3 4/4

　８．①テールパイプに②サイレンサーを取り付けて下さい。
　　　（ＦＩＧ．９参照）

　４．③サイレンサーステーに⑨グロメットラバー、⑩グロメ
　　　ットカラーを取り付けて下さい。（ＦＩＧ．２参照）

　５．純正の右側タンデムステップを一旦取り外して、右側タ
　　　ンデムステップ・③サイレンサーステーの順に車両に取
　　　り付け、⑤キャップボルトＭ８×３０を使用して規定ト
　　　ルクで締め付けて下さい。（ＦＩＧ．３，４参照）

！注意 　規定トルク　　右側タンデムステップ　：２３Ｎｍ

１０．①テールパイプと②サイレンサーに⑬マフラースプリン
　　　グをスプリング取付工具を使用して取り付けて下さい。 
　　　（ＦＩＧ．１２参照）

！危険 スプリングを取り付ける際は、スプリングが工具から外れない
ように充分注意して下さい。（怪我をする恐れがあります）

　９．②サイレンサーを⑤キャップボルトＭ８×３０、⑦平ワ
　　　ッシャＭ８×２６、⑫フランジナットＭ８を使用して③
　　　サイレンサーステーに仮締めして下さい。
　　　（ＦＩＧ．１０．１１参照）

１２．⑭ヒートガードを⑮ボタンボルトＭ６×１２、⑯ボルト
　　　用サラバネＭ６、純正ボルト、純正ワッシャ、純正ナッ
　　　トを使用して取り付け、規定トルクで締め付けて下さい。
　　　（ＦＩＧ．１５．１６参照）

ＦＩＧ．１６

③サイレンサーステー＃１

⑨グロメットラバー 
/⑩グロメットカラー

取り付けの詳細はFIG.4 
を参照して下さい

①テールパイプ

②サイレンサー

右側
タンデムステップ

ＦＩＧ．３

ＦＩＧ．４

ＦＩＧ．２

ＦＩＧ．１

①テールパイプ

純正クランプバンド

ＦＩＧ．６

ＦＩＧ．９

⑬マフラースプリング

取り付けの詳細はFIG.11 
を参照して下さい

②サイレンサー

１１．車両後方から見てサイレンサーの角度やマフラーと車両
　　　のクリアランスを調整し、クランプバンド→サイレンサ
　　　ーステーの順に規定トルクで締め付けて下さい。 
　　　（ＦＩＧ．１３，１４参照）

ＦＩＧ．１４

ＦＩＧ．１３

ＦＩＧ．１２

※メタルマジックカバーやエンブレムの色落ちの原因になり
　ますので、中性洗剤以外は使用しないで下さい。

！注意

　６．①テールパイプ前側に純正ガスケット、純正クランプバ
　　　ンドを取り付けて車両に取り付け、純正クランプバンド
　　　を仮締めして下さい。（ＦＩＧ．５，６参照）

ＦＩＧ．７

ＦＩＧ．８

③サイレンサー
　ステー＃１

⑫フランジナット
　Ｍ８

⑤キャップボルト
　Ｍ８×３０

車
両
外
側

車
両
内
側

⑦平ワッシャ
　M8×26

③サイレンサーステー

①テールパイプ

純正クランプバンド

ＦＩＧ．５

純正ガスケット

右側タンデムステップ取付位置

右側タンデムステップ

③サイレンサー
　ステー＃１

⑤キャップボルト
　Ｍ８×３０

②サイレンサー

①テールパイプ

ＦＩＧ．１５

⑭ヒートガード

⑮ボタンボルトＭ６×１２
/⑯ボルト用サラバネＭ６

車両後側から見た図

車
両
外
側

車
両
内
側

車両後側から見た図

純正ナット

純正ワッシャ

純正ボルト

サイレンサー取付位置

⑭ヒートガード

！注意 規定トルク　　ヒートガード(Ｍ６)　　　：１０Ｎｍ
　　　　　　　ヒートガード(Ｍ８)　　　：２３Ｎｍ

ガスケットが焼き付いていたり、破損している場合は、新しい 
物に交換して下さい。

参 考

SUZUKI GSX-S1000/F Slip-On R-11Sq サイクロン 1エンド EXPORT SPEC 政府認証

　７．②サイレンサーに⑥ボタンボルトＭ６×２０、⑧ＳＵＳ
　　　ワッシャＭ６×１３、⑪フランジナットＭ６を使用して
　　　④サイレンサーステー＃２を仮締めして下さい。
　　　（ＦＩＧ．７，８参照）

⑥ボタンボルト
　Ｍ６×２０

⑧ＳＵＳワッシャ
　Ｍ６×１３

④サイレンサー
　ステー＃２

②サイレンサー

⑪フランジナット
　Ｍ６

④サイレンサー
　ステー＃２

取り付けの詳細はFIG.8 
を参照して下さい

④サイレンサー
　ステー＃２

②サイレンサー

取り付けの詳細はFIG.16 
を参照して下さい

！注意 規定トルク　　クランプバンド　　　　　　：２３Ｎｍ
　　　　　　　サイレンサーステー(Ｍ６)　：１０Ｎｍ
　　　　　　　サイレンサーステー(Ｍ８)　：２３Ｎｍ

3. Optional Part :
Description

Silencer Bracket Set

Part No.

194-196-0010


